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PAPER-II
SOCIOLOGY

Signature and Name of Invigilator
1. (Signature) OMR Sheet NO. 1 .ooceiiiiiiiiiiee e

(Name) (To be filled by the Candidate)
2. (Signature) Roll No.

(Name) (In figures as per admission card)

Roll No.

J I 1]2

Time : 1/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(i) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Read instructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 8.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10
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SOCIOLOGY

Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying

two (2) marks. Attempt all the questions.

Sociological perspective is primarily 4.  Emile Durkhiem defines society as

related to an attempt to (A) Community of ideas

(A) change the social order (B) Homogeneous community

(B) understand the social order ©) Moral community

(C) reform the social order (D)  Ethical community

(D) adjust to the social order 5.  Assertion (A): According to Karl

Marx class exploitation can be

Match the items in List — I with the brought to an end only when

items in List — II and select the the means of production is

correct answer from the codes given communally owned.

below Reasons (R) : The ruling class

List — I List — II derives its  power from the
. ownership and control of the
(Concepts) (Social means of production.
Scientists) Codes :

(a) The poverty (i) Peter Berger (A) Both (A) and (R) are true and

of Philosophy and T. (R) is the correct explanation
Luckman of (A).

(b) Symbolic (i1) Karl Marx (B) Both (A) and (R) are true but
interactionism (R) is not the correct

(c) Manifest and (iii) Herbert explanation of (A).
latent Blumer (©) (A)is true but (R) is false.
function (D) (A)is false but (R) is true.

(d) The  social (iv) R.K. Merton 6.  Which one among the following is
construction an instance of social action
of reality according to Max Weber ?

Codes : (A) To cyclists colliding with each

(@ (b)) (@ (@ other.

A ) (v ii iii (B) Persons travelling in a train.

A) (@) Gav) @a) (i) , .

B) Gi) Gii) Gv) @) (C) Two  cyclists e'xchangmg

© Gi) G) @) (v blows after they collide.

%11 ,1,1' .1. I,V (D) Persons opening umbrellas

D) Gv) i) () (@) when it starts raining.

Which among the following is an 7. .WhiCh among th.e following is not,

example of a community ? glf nl\l/f)a;?j?pizrdrﬁggggy component

(A) Fami}y (A) Means of production

(B) Marriage (B) Instruments of production

(C) Village (C) Forces of production

(D) Refugee Camp (D) Relations of production
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8. The Weberian model of social 14. Which one of the following is
stratification has been used in the known as the process by which
study of caste by cultural traits spread from one
(A) S.C.Dube culturally distinct group to another ?
% 1%’115 : l\iricllﬂvas (A) Evolution

- vadan (B) Assimilation
(D) Andre Beteille .
(C©) Accommodation

9.  Which one among the following (D)  Diffusion
concepts is, according to Merton,
capable of theoretically dealing with 15. The movement of a person from the
change ? position of clerk in Calcutta
(A) Eufunction headquarters of L.IC. to that
?(3:; gon—f}flnctipn position in Delhi headquarters of

uasifunction L.LC. is an example of
(D) Dysfunction (A) Horizontal mobility

10. Sanskritization implies (B) Upw.ard mob%l%ty
(A) Change in caste structure (C) Vertical mobility
(B) Change of caste structure (D) Downward mobility
(C) Change for caste structure
(D) None of the above 16. When an Indian couple prepares its

‘ ‘ ) ‘ daughters so that she is accepted in
11. A teacher in carrying out his duties her husband’s family after her
Egs to reslfond to the expc)lectations oé“ marriage, it is a case of
is  colleagues, students an e
guardians 0% the students. These (A) SOClal,lza_UOI,l
people constitute for the teachers. (B)  Resocialization
(A) Status set (C) Anticipatory socialization
(B) Multiple roles (D) Adult socialization
(C) Role-set
(D) None of the above 17. According to Durkheim, religion
) o consists in the distinction between

12. i\z’slgtcltllﬁzrrlle?of the following is not an (A) the sacred and the secular
(A) Marriage (B) the pure and the impure
(B) Education (C) the sacred and the profane
(C) Policing (D) the gods and the ghosts
(D) Pick-pocketing

o ) 18. Resocialization is clearly evident

13. The prohlbltlpn of sagotra marriage when a
?nn;?r?fgtehe Hindus is an example of (A) girl’s marriage just takes place
(A) Taboo (B) child is born
(B) Clan exogamy (C) person works as a member of a
(C) The rules of caste endogamy revolutionary party
(D) The incest taboo child starts going to school
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(D) i AT 18. U GO 3§ T W Uede
o T & ST
SSTETIT & 2 (B) =3 A S/ ferm & |
(A) aﬁﬁf@ e oo (C) = PRl TA & TS &
(B) T afgfeamg (A fastda foae) S
(C) Sfa & faare & 3w . N
(D) e Ao (I ff) (D) o< E&etd STl Y il @ |

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




19.

20.

21.

Match the items in List — I with the
items in List — II and choose the
correct answer from the codes given
below :
List -1 List - I1
(a) Looking-glass (i) Karl Marx
self
(b) Alienation (i1) William
Ogburn
(iii) G.H. Mead
(iv) Auguste
Comte
(v) C.H. Cooley

(c) Cultural lag
(d) Positivism

Codes :

@ b © @
A (v @) a) av)
B) @ a) @) (V)
© Gv) () a) @)
D) @) Gv) @ @)
Sociology in India was introduced at
the institutional level after it was
well-established in Europe and

U.S.A. Which one among the
following is the year of introduction

of sociology at the formal /
institutional level ?

(A) 189%4 (B) 1895

(C) 1939 (D) 1919

Match the items in List — I with
items in List — II and select the right
answer from the codes indicated

below :
List -1 List — 11
(Concept) (Sociologist)
(a) Organic (i) Herbert
solidarity Spencer
(b) Religious (i1)) Emile
Ethic Durkheim
(¢) Mode of (ii1) Vifredo
Production Pareto
(d) Social (iv) Karl Marx
evolution
(v) Max Weber
Codes :

@ () (© (@
A @ (i) (Gv) (D)
B) aG) @O (v) (i)
©) (v @) Gv) (1)
D) G) v G(v) @

Latest Sarkari Jobs, Govt Exam Results
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Match the items in the List — I with
the items in List — II and select the
correct answer from the codes given
below :
List -1 List - 11
(a) Acculturation (i) A condition
in which
people may
work
together even
though there
are
differences
which
separate them
(b) Assimilation (ii) A process of
adaptation in
which
elements of a
culture form
a composite
whole
(¢) Accommodation (iii) A condition
in which
people of a
culture tend
to acquire
some
elements of
other culture
and leave
some
elements of
their own
(iv) A process
wherein a
minority
group
gradually
gives up its
own cultural
patterns and
acquire those

(d) Integration

of the
dominant
Codes :
@ O © @
(A 1 @) @) (@av)

B) @Gi) @Gv) @@ (D)
© Gy @) Gv) @)
D) Gi) Gv) @) @



19. ¥ - 1% T&l & G - 11 & W& 9 22. Al — 1 % W& gl — 11 % W& H
FiferT T S A e et | W e et i oiK A el el @
3T T TG B T TR T T -

e -1 = - 11

(a) TR (i) a1 Tt - 11
(b) TUeE (i) faferam simee (a) WEGpfaweor (i) o fefa e
(c) TEpfaH (iii) ST 7. S T 3 g

foorar T I a1l
ORREEIE (iv) ST i HANET

(v) &t T, gt STeTE it 3oy
@ ® © @ €
A (v @ @) av) (b) TEFHOT (i) B Bl
B) @ G ai) (v) aiskan e
©) av) @) @) @ T & T
D) (i) Gv) () (i) AT T
T & |

20. T WE% ™ ng]—jr T® uRa i;_ (c) ST/ (iil) ot feerfa o
wﬁao‘ T W W H SR T T HEGHId &
FefeiEd 5 | & 9 a9 § G AT g
HTEREF/ e W W W | @ TG & T
T ? T UET A
(A) 1894 (B) 1895 T F R
(C) 1939 (D) 1919 A FT

20, T - ¥ B A - 1w SHIETE |
T GHferd ot AT A {57 pei | (d) TR (iv) 3t Wi et
ﬂ%ﬁf 37X bl I °|'7||“1¢| | T W

T -1 =t - 11 T AT

(ITaETRO) (ST RrEatCy
(a) S ek (i) gae T e Bt
(b) =fies FfaRe (i) whet gEm ST T I
(c) e i (iii) fenkst Urer & 3T el

REl T % 3t
(d) GRS (iv) et qre FATE |

Sfgepra

(v) o R ®e:
%< @ O © @
(A) ((a)) ((b)) (('C)) Ed; D
1 111 1v 11 . . ..

® @ O ) i) B) i) @Gv) (@ (@)
©) (v) Gii) Gv) ) (C) (i) (i) @(Gv) (@
D) () W Gv) @ D) Gii) (Gv) (i) (@)
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23. Which one of the following is an 27. Which of the following thinkers used
example of ascribed status ? a system of binary opposition in
(A) Teacher (B) Student structural ~ approach  to  social
(C) Brahmin (D) Doctor ?2;’110;1::11;?

24.

Tertiary sector is also known as
(A) Processing sector
(B) Forestry sector

(B) Radcliffe-Brown
(C) Levi-Strauss
(D) Malinowski

(C) Mining sector 28. Which. of the following is correct
(D) Services sector according to Mead :
(A) Self can also emerge in the
absence of social experience
25. Match the items in List — I with the (B) Self does not allow people to
items in List — II and select the take part in conversation with
correct answer from the code given others.
below (C) Body becomes a self only
List -1 List — IT when a mind has developed.
(a) Homo (i) Claude (D) Mind and self can be separated
Hierarchicus Levi- from each other.
Suauss 29. Which of the following d
(b) The Savage (ii) Andre . Which of the fo owm%{ oes not
. . represent the Dahrendorf’s theory of
Mind Beteille .
conflict ?
(c) Caste, Class and (iii) M.N. (A) Social change is ubiquitous in
Power Srinivas human society
(d) Castein (iv) Louis (B) Conlflict can be both latent and
Modern India Dumont manifest
and other (C) Every society experiences
Essays social conflict
Codes : D) Econon_li_c and social
W o © o el e o
A) @) G @O 3Gv)
®) @) @) v @ 30. Which of the following statements

26.

© av) @ @ (36
O @ @ 3> 3@v)

Rise of new technologies in the
sphere  of  information  and
communication leading to greater
globalization is a future of

represents the functional theory of

Emile Durkhiem ?

(A) Society does not necessarily go
through the fixed stages of
development

(B) A whole is not identical to the
sum of its parts.

(A) Agrarian Society (C) Social phenomena. can be

(B) Industrial Society reduced to individuals
‘ ) phenomena

(C)  Post-Industrial Society (D) Collective will emanate from

(D) Rural Society human will
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23. TR fefa T SeTeeoT i § 2 27. frefafea foaret § 9 e gt
A)  IETE B) fermedt WO % SEATCHS SUTH W ey
A ®) foRte =6t yomeTt 1 ST TR 2
(C) eI (D) SR A) .
(B) STtk saA
24. ?ﬁaﬁaﬁﬁmﬁﬁwwﬁ%ﬁw ©) e
' D) #fcrren!
(A) WsRHIT & )
(B) e &t 28. Wi & IUR, ffeiad § ¥ ®F @
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o ST/ 3R Tl € |
25. W - 1 G g - (B) wE I F TEI F T
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A S ] T A (C) TiETF % IRUse & S & oI5 &l
a1 a1 3T SATCHT AT E |
) . (D) HRASHUHT T T H TH
(a) € FRREEHE (i) edre T T e o S A
o
(b) 3 O TEE (i) s g 29. TAEE kg F feme W
(c) e, FAE UL (iii)TH, T, frfefiad o & =1 Uehe Tel a1 € 2
qraR (A) HHEE TEN H HHENSE GReEd
WWWIV@W (B) WY U TAT WK AT Bl
| THATE |
. (C) U® TUN WHIfss Gud
b @ O © @ Wa.ﬁ"a FAE | o .
W) i) @ 0 ) (D) Tt 1 T A S
® () G @) 0 AT STAAAAT & |
© v © G i) 30. frafafad & ¥ ®F W FA 3AEA
Oy @ @) @) [Qv) @M % UHETd (g B et
AT & 2
26. GO qAT EAR F &F T A9 WEinTehar (A) T, foera &t fer et d
T 3G ST SAfsh IEehoT Wi 3T T ToRAT €
T R TE & TE Tohaeh i JITe & 2 (B) T 3T 3R % AN F HHET
(A) HTH FH T A E |
(B) sieifires Tt (C) I~ vug El; AT gog |
~ IGAl ST Hehdl & |
© ;:q;ﬁ;wa“”* HH (D) UMfE® adEd AT adEd 9
(D) A fepordt € |
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31.

32,

33.

Functionalism constitutes an

important element in the social

theories of

(A) E. Durkheim and C. Levi-
Strauss

(B) E. Durkheim and Max Weber

(C) Talcott Parsons and Karl Marx

(D) A.R. Radcliffe-Brown and
R.K. Merton

Choose the correct sequence of

Parsons’ schema of social action and

social system

(A) Social system, cultural system,
personality system and
Biological organism

(B) Personality system, cultural
system, Social system and
Biological system

(C) Biological organism,
Personality system, Social
system and Cultural system

(D) Cultural system, Biological
system, Personality system and
Social system

Match the items in List — I with the
items in List — II and choose the
right answer from the codes given
below :

List -1 List - I1
(a) Malinowski (i) Pattern
variables
(b) Durkheim  (ii) Postulates of
functional
analysis
(c) Parsons (i11) Collective
consciousness
(d) Merton (iv) Biological
need-based
functionality
Codes :
@ ® (@© @
A @® @) @) aGv)

B) i) (i) (@) (v)
©) @) Gv) () ()
D) @v) (i) @) (D)

34. Basic

3s.

principles  of
interactionism include
(a) Human capacity for thought
(b) Social institutions and social
interactions

symbolic

(c) Mind and social consciousness

(d) Meanings and symbols that
facilitate action and interaction

Select the correct answer from the

codes given below :

Codes :

(A) (a)and (b)

(B) (b) and (c)

(C) (c)and (d)

(D) (a)and (d)

There are two statements, one is
Assertion (A) and the other is
Reason (R). Select the correct answer
from the codes given below :

Assertion (A): People are able to
order a world that otherwise
would be confusing.

Reasons (R) : Symbols enable
people to deal with the
material and social world by
allowing them to name,
categorise and remember what
they encounter.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(C) (A) is true but (R) is false.

(A) is false but (R) is true.
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31.

32.

33.

UhAdeTs b WIS (g |
Hewaqul o< & ?

(A) T I TG e — 2

(B) 3. 3G qAT A A

(C) oTHic IREH AT el A

(D) T 3R, (S - TS adl 3R,
F, qeA

TSR T TS ST o ey
H URETE H A HOFE A
a?ns?i:

(A) WIS ZET, AEpdh
T, TR e qT
Sferer IRIT-TEAT

(B) TATKIH SO, AHh T,
[T e e ek IR-
AT

(C) Siferes IR - T, Al
T, WIS AT,
e e

(D) WPl TN, S e,
=215 s o Meo o res G O s ) S

T |

gt — 1 % WE B gl — 11 % HR H

T GAfeAd P 3R A 53 e F

TEl 3T T II9 i

e -1 = - 11

(a) AfcFE@Rl (i) dfeme =

(b) 3@ (ii) TepraTeHe fargetyoT
T IR

(c) TETE (i) Wfes =a

(d) T (iv) S 3Taggehan
E IR
TR

E T

@ b © @
A @ ) > 3(4v)
B) ) @) @G 3Gv)
© i) av) a) @
D) Gv) G @@ 1)

34.

35.

eI 37T fShaTaTs o Hogd faaT=l
T gEMEE &

(a) HrE H AT &THAT

(b) THIR TRMT T WIS
K RREDIIY

(c) TFT T QST oA

(d) 3 TqM W S TR g
31 Toham Bl oIl S & |

T 2 ot F T ST T TAT HIH

E T

(A) (a) 3R (b)

(B) (b) 3R (c)

© () 3R (@@

(D) (a) X (d)

T T FE TF T TR B AT

(A) T G T HROT (R) F&T 77 € |

AtWFT (A) : A fove W AR
FH A T €, S R e
WA B |

%HRT (R) : e / udie A o
i T QSIS 3T o T
e & &AeT 9 A © | 3R
UGl 9 S AW S, o e
JAT WROT @A I AFEA T
FAE |

T 52 2l | TE IR B T B

ETE

(A) (A) 3R (R) TF 9 € 3 (R),
(A) Tl el AT |

(B) (A) 3R (R) T ¥ &, W (R),
(A) T TE AT TR T |

(C) (A) TFE, WA (R) FEAE |

) (A) ITAE, W] (R) TA T |
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36. Which one of the following, thinkers 41. Which of the following is associated
observed that conflict is likely to with Descriptive Design ?
occur in social relations because (A) Analysis of Demographic
violent coercion can always be used Trends
l()i)pe(g)i;ilzsan interaction setting ? (B) Impact assessment of
_ development intervention
(B)  Simmel (C) Causal explanation of violence
(C)  Dohrendorf against women
(D) Coser (D) Cross-cultural study
37. Who, among the following, has ) )
emphasized the positive functions of 42. In which of the fol?ow1.ng types of
the conflict in society ? resea'lrc‘:h, hypothesis is a pre-
(A) Lewis A. Coser requisite ?
(B) Karl Marx (A) Biographical study
(C) Max Weber (B) Experimental study
(D) Emile Durkheim (C) Interpretative research
(D) Ciritical research
38. According to Durkheim, the nature
of Modern law is 43. Which type of sampling method is
(A) Repressive ideally suited, where there is no
(B) Restitutive knowledge about population ?
(C) Normative (A) Convenient sampling method
(D) Formal (B) Purposive sampling method
(C) Quota sampling method
39. Which of the following is not (D) Snowball sampling method
regarded as the characteristic feature
of scientific method ? 44. Participant observation method is
(A) Reli.a‘t.)ility ideally suited for the study of
E]é; zzll)llciilgbility (a) Tril?al Culture
(D) Common sense observation () National Cuilture
(c) Ethnographic study
40. The purpose of the survey is (d) Phenomenon of Globalisation
(A) In depth study of social Select t.he correct answer from the
phenomena codes given below :
(B) Extensive coverage of (A) (a) and (b)
population (B) (a) and (c)
(C) Testing of a theory (C©) (2)and (d)
Establishing causal linkage (D) (c) and (b)
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36.

37.

38.

39.

40.

frafafad foement ¥ 9 o foar
e & gmfse T== § "9 @
Tl €, FiTeh TR fopan it feafq
o A g EdeTes 97 TE o6 gaen
ST TohaT ST Hehell € 2

(A) Wi
(B) fTawet
(C) TRASH
(D) &R

TS H HOY o GhNIcHS Uh[ET UT
feferiad ¥ 9 fvea sk fear & 2

(A) <feE T HRET
(B) It AT
(C) "o TR’
(D) A 3EH

SEM & AR, 3TMYHE HH H &Y
FTE 2

(A) TEASRI
(B) &g
(C) HAHHE
(D) 3oy

At fafy w1 fafvre wteqor fefafad
TG BT HTRNE?

(A) oo

(B) e

(C) g

(D) WS Y SFAAH

HAIOT FH TIT €

(A) IS TOT 1 TTE 3T
(B) SHEEA T foga FHals

(C) TogT= =1 wiemor

(D) HE-HROT Tray TfUa ]

41.

42,

43.

44.

foeRoTeRe eTiTeRed (Teste) & a1g

I AT T ¢ 2

(A) SHIiTheT YT 1 foveror

(B) ok a&ai o TTel ST Hodish

(C) fear & faog fw & FRoTHH
T

(D) I — AN T

my &% FEfatEd v § 9 e
TR Y e € 2
(A) STem T ez

(B) WIANTHS 31T

(C) Te=rT 3remaq

(D) 3TCATFTCHS 3TeTaT

SHEYEE % I H HiE STHHRT T 8 )
i ¥ THR i TiaadT Tgid e &Y

Y 3UFHT € 2
(A) gousHS Afaaa- TS

(B) WY UqaaT Usid

(C) TIAreT (FleT) Udaa- Tgi

(D) ST Hd=a S

o (e
T el Ugid ek 3Teqad &

o T oRE ¥ UG § 2

(a)  STASTCIE HEHfT

(b) T HEHA

(c) TSI ereaa

(d) ST HT IRETT

T 52 el F HEl I A T W -

(A) (a) ¥R (b)
(B) (a) &R (c)
(©) (a) 3R (d)
(D) (c) &R (b)
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45.

46.

There are two statements, one is

Assertion (A) and the other is

Reason (R). Select the correct

answer from the Codes given below :

Assertion (A): Qualitative methods
are often criticized for failing
to meet the same standards of
reliability.

Reasons (R) : The procedures used
to collect data in qualitative
studies are precise and
accurate.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

There are two statements, one 1is

Assertion (A) and the other is

Reason (R). Select the correct

answer from the codes given below :

Assertion (A): Life history research
can help to raise people’s
consciousness and awareness
of their exploitation.

Reasons (R) : Life history research
encourages people to reflect
upon the factors that have
shaped thin life experiences.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

47.

48.

49.

50.

Match List — I with the List — II and
mark the correct answer from the
codes given below the lists :

List-1 List — 11
(a) Central (i) Mean
Tendency Deviation
(b) Dispersion (i) Pearson’s
coefficient
(c) Correlation (iii)Mean
(d) Test of @iv) ‘t’-test
Significance
Codes :

(@ () ( (@
A) @O Gy @Gv) (i)
B) () @) Gv) @
© @y @ G @Gv)
D) @Gv) @G G @
When a particular technique applied
repeatedly to the same object
producing the same result each time,
it is said to have
(A) Validity (B) Reliability
(C) Probability (D) Subjectivity

Observe the following Table and
answer the question given below :

Age Group Frequency
20 -29 04
30-39 06
40 - 49 09
50-59 12
60 - 69 15
70 -79 09
80 -89 04

In the distribution shown above the
median falls in the interval between :
(A) 40-49 B) 50-59
) 60-69 D) 70-79

Calculation of number of deaths per
thousand people falls under the
measure of

(A) Nominal scale

(B) Ordinal scale

(C) Ratio scale

(D) Interval scale
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: . — 1 & g - I % §r gafera
45. 3 wuF @ ™ € U H AFEE (A) 47. T -1 .
TAT I H FROT (R) F&T T E | A I O A fot et & W S
2 T T ¥ TEl I H T D | T i -
T -1 = - 11
AUFAA (A) : foaEET & P (a) IS TG (i) TR faEe
AARUS H [ A HR GHA H (b) TR (i) forerce 1
HRUT TS TFTA B I T
STCATTAT Y STl & | (c) TeTwY (iii)mre
FROT(R) ;OIS TN A (d) WERATHE (iv) “t-TRIETOT
Mhg THHT HA I UlehATd TRJeToT
T qT Sk — SH Bl & | FHT:
Fz: (@ ) (© (@
s ’ ’ A) (@) () @Gv) (Gid)
(A) (A) 3T (R) 391 I & 3 (R), B) G (i) Gv) @)
(A) Tl el A ¢ | ©) (i) @ G 3Gv)
B) () 3 R B w E T () D) (v) Gi) () (@)
(A) T TE AT TR T | 48. 9 U & T W U OIS qhAIh D
TRER TR A W TH & urRony
(C) (A) TAE, W] (R) AT | ‘ AT
(D) (A) FEAE, W (R) AT | (A) JeEa (B) Farvargrem
46. TE T FUA @ T T U A ATEA (C) e (D) =R
T A T BRYT (R) RET T € | A 49. frefofas afch = o & 3 @
2 T e ¥ TEl S H T D | T 3 ueT 1 S ST
ATHHAT (A) : STe Saerd g A A qHE gt
¥ Ik WNOT % Uiq T uE gg—gg 82
e e i 40 - 49 09
50-59 12
HROT (R) : STia fder oy o s gg—gg (1)3
37 B W TOR FH & od -
o o~ 80 -89 04
Aledlled i & Frm s Suder foaRor § Afegen fh 3Rl |
STer & STl Wl SHR fear & | qeaT ¥ 0
T (A) 40-49 B) 50-59
° C) 60-69 D) 70-79
(A) (A) 3R (R) IFF ¥ T 3R (R), © ®
(A) 31 T €l 50. Ui gSIR =AfeRT Jog Sl TEAT 1 IR
(B) (A) 3R (R) IHI T €, W] (R), fepe Ao o ST TS € 2
(A) T TE AT TR T | (A) e Y9FT (@1 T
(C) (A) TFE, WA (R) FTT T | (B)  ShHE I
N . (C) T e
(D) (A) I E, W (R) FAE | (D) IR THET
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